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Functions Practice:

1. Which graph does not show y as a function of x?
"y s
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{ ('2r3)f (1f6)! (_4r11)! (5138)! (3!18)}

What is the parent function of f? 5 Y
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3. An architect is designing an office building with_n floors-that will have an FM radio antenna [
&~ 15,85 m tall on its roof. Each floor of the buildifig will be 3.9 m high. Which function can be

used to find the total height o\\the building in meters, including the FM antenna?
R . ) .
A h(n) = 15.850 + 3.9 ¢ 244N F\S. kS

h(n)_ 3.9n + 15.85 '

C h(n) = 3.9n—-15.85

D Hh(n) =19.75n



4. Which of the following relations is a8 function?
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5. Students at a school will sell hats to raise money. There are some hats left over from last
year, and 20 boxes of hats will be q_d__e:—_z_rgg this year. When the order arrives, the total numbey—
of hats the students will have can be determined using the function f(x) = 48x + 37, where
x represents the number of boxes ordered, If the number of hats per box changes so that

the situation is modeled by the function h{x) =
students have available to sell if they still order 20 boxes?

s Record your answer and fill in the bubbles on your answer document,

\ Flaa)y=HU8l20) +3T
Pl = AT

2 N [2e) = 24lze) ¥ 37
(26N = S0

Bk = . qg-Sl) =
SL&”\YC*LQ)( . %
CHE

6. For the function w, wé‘ = =¥, and\/(~7)J: 9.If y = w(x), what

K= =17 8

Y

24x + 37, then how many fewer hats will the
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is the value of y when



